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I. Inorder 1o test whether the variance of a population i equal 10 some value, we:

L. use the F-distribution

2. use the t~distribution

3. use the chi-square distribution

4. can only perform ore~sided hypothesis tests on variances.

2. The power of a test is:

1, the prebability of not making a 1ype I error
2. the probability of not making a type [ error
3. the same as the level of significance

4. the same as the p-value,

3 Chi-square tests may be used for testing hypotheses concerning:
1. goodness of fit

2. contingency
3. proportions
4. all of the above.

4. Arandom sample of 10 salesmen's sales, in cases, .of a new product are: 15, 18, 7, 0, 6, 4,

an ynbiased estimiate of the populalion mean js:
1.9.0

2.6.0

37127 .

4. nome of the above

5, ah unbiased estimate of the population variance is: { J&l 4 7 Fia)
1. 52.89
2. 47.60)
3. 160
4, none of the above
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1. A sample of 25 items is to be selected at random from a large population. The
probability is 0.05 that the sample that the sample variance will by less than the

population variance by percent.

2. A random sample of 300 nails is selected from a population of 1000, and 10 are
found to be defective. If the true proportion of defectives is 2%, the probability
of this sample result or one even more extreme is __ i

3. The 95 percent conlidence interval for the population mean from a sample of 16
cans of peanuts with 2 mean of 505 grams and a standard deviation of 8 grams

18

4. The following table gives the pretest and posttest scores for five individuals in a
training program. Then the 90 percent confidence interval for the difference is
. If the null hypothesis that the difference in average scores is zero
iz test at o = 0.01 level, then the conclusion is to the null hypothesis.

individual pretest s00res posttest scores
] 14 82
2 72 78
3 79 79
4 75 81
5 T8 30
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NORMAL CURVE AREAS
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